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PROBABILITY

7 9
L p(B) == d
3 PB =3 o

P(ANB) = 1i3 evaluate P(A | B)

1. If  P(A) =

° Watch Video Solution



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_oSZgOiOiOMgR

2. A family has two children. What is the
probability that both the children are boys

given that at least one of them is a boy ?

o Watch Video Solution

3. Ten cards numbered 1 to 10 are placed in a
box, mixed up thoroughly and then one card is
drawn randomly. If it is known that the number
on the drawn card is more than 3, what is the

probability that it is an even number?


https://dl.doubtnut.com/l/_oSZgOiOiOMgR
https://dl.doubtnut.com/l/_8NLEnKYOLotN
https://dl.doubtnut.com/l/_5npZD6spPjHM

o Watch Video Solution

4. In a school, there are 1000 students, out of
which 430 are girls. It is known that out of 430,
10% of the girls study in class Xll. What is the
probability that a student chosen randomly
studies in Class Xl given that the chosen

student is a girl?

o Watch Video Solution



https://dl.doubtnut.com/l/_5npZD6spPjHM
https://dl.doubtnut.com/l/_b1ZvUgiQU9Ot

5. A die is thrown three times. Events A and B
are defined as below: A : 4 on the third throw B
: 6 on the first and 5 on the second throw Find
the probability of A given that B has already

occurred.

o Watch Video Solution

6. A die is thrown twice and the sum of the
numbers appearing is observed to be 6. What is
the conditional probability that the number 4

has appeared at least once?


https://dl.doubtnut.com/l/_fCva0Z0T9Caz
https://dl.doubtnut.com/l/_0I9dAhvUx05X

o Watch Video Solution

7. Consider the experiment of tossing a coin. If
the coin shows head, toss it again but if it
shows tail, then throw a die. Find the
conditional probability of the event that the die
shows a number greater than 4, given that

there is at least one tail.

o Watch Video Solution



https://dl.doubtnut.com/l/_0I9dAhvUx05X
https://dl.doubtnut.com/l/_UXiStgYEfH46

8. An urn contains 10 black and 5 white balls.
Two balls are drawn from the urn one after the
other without replacement. What is the

probability that both drawn balls are black?

o Watch Video Solution

9. Three cards are drawn successively, without
replacement from a pack of 52 well shuffied
cards. What is the probability that first two
cards are kings and the third card drawn is an

ace?


https://dl.doubtnut.com/l/_omV8xbZdwtAg
https://dl.doubtnut.com/l/_Y0BKLDS6On6M

o Watch Video Solution

10. A die is thrown. If E is the event ‘the number
appearing is a multiple of 3’ and F be the event
‘the number appearing is even’ then find

whether E and F are independent ?

o Watch Video Solution

11. An unbiased die is thrown twice. Let the

event A be ‘odd number on the first throw’ and


https://dl.doubtnut.com/l/_Y0BKLDS6On6M
https://dl.doubtnut.com/l/_K2EL8F0PoNrX
https://dl.doubtnut.com/l/_9PFIaAjmGl7Y

B the event ‘odd number on the second throw'.

Check the independence of the events A and B.

° Watch Video Solution

12. Three coins are tossed simultaneously.
Consider the event E ‘three heads or three tails’,
F ‘at least two heads’ and G ‘at most two heads’.
Of the pairs (EF), (E,G) and (F,G), which are

independent? which are dependent?

o Watch Video Solution



https://dl.doubtnut.com/l/_9PFIaAjmGl7Y
https://dl.doubtnut.com/l/_U6tY1X0lxLou
https://dl.doubtnut.com/l/_oe9jShOvs7q6

13. Prove that if E and F are independent events,

then so are the events E and F'.

o Watch Video Solution

14.f A and B are two independent events, then

the probability of occurrence of at least one of

AandBis givenby=1— P(A’)P(B’)

o Watch Video Solution



https://dl.doubtnut.com/l/_oe9jShOvs7q6
https://dl.doubtnut.com/l/_TNe9TsYgGw8I

15. A person has undertaken a construction job.
The probabilities are 065 that there will be
strikes 0-80, that the construction job will be
completed on time if there is no strike, and 0-32
that the construction job will be completed on
time if there is a strike. Determine the
probability that the construction job will be

completed on time.

o Watch Video Solution



https://dl.doubtnut.com/l/_49TTYMZAJLmb

16. Bag | contains 3 red and 4 black balls while
another Bag Il contains 5 red and 6 black balls.
One ball is drawn at random from one of the
bags and it is found to be red. Find the

probability that it was drawn from Bag II.

o Watch Video Solution

17. Give three identical boxes I , Il and lll, each
containing two coins. In box | both coins are
gold coins, in box Il both are silver coins and in

box Il there is one gold and one silver coin. A


https://dl.doubtnut.com/l/_PwHYwtZvU2Qm
https://dl.doubtnut.com/l/_Pnx8h1nUMiJ9

person chooses a box at random and takes out
a coin. If the coin is of gold, what is the
probability that the other coin in the box is also

of gold ?

° Watch Video Solution

18. Suppose that the reliability of a HIV test is
specified as follows: Of people having HIV, 90%
of the test detect the disease but 10% go
undetected. Of people free of HIV, 99% of the
test are judged HIV-ive but 1% are diagnosed as

showing HIV+ive. From a large population of


https://dl.doubtnut.com/l/_Pnx8h1nUMiJ9
https://dl.doubtnut.com/l/_mQ2YGJjUKIdy

which only 0.1% have HIV, one person is selected
at random, given the HIV test, and the
pathologist reports him/her as HIV+ive. What is
the probability that the person actually has

HIV?

° Watch Video Solution

19. In a bolt factory, three machines A, B and C
manufacturers 25, 35 and 40 percent of the
total bolts . Of their output 5,4 and 2 percent
are defective respectively. A bolt is drawn at

random and found to be defective. Find the


https://dl.doubtnut.com/l/_mQ2YGJjUKIdy
https://dl.doubtnut.com/l/_mVWX1s4f0aSq

probability that it was manufactured by

machine B.

o Watch Video Solution

20. A doctor is to visit a patient. From the past
experience, it is known that the probabilities
that he will come by train, bus, scooter or by

other means of transport are respectively

> 11 d 2 Th babilities that h
10° 5 10 an 3 e probabilities that he
ill be lat L1 if h by trai
will be late are —, 3 15 T he comes by train,

bus and scooter respectively, but if he comes by

other means of transport, then he will not be


https://dl.doubtnut.com/l/_mVWX1s4f0aSq
https://dl.doubtnut.com/l/_iXwtLOjWPYGd

late. When he arrives, he is late. What is the

probability that he comes by train?

° Watch Video Solution

21. A man is known to speak the truth 3 out of 4
times. He throws a die and reports that it is a

six. Find the probability that it is actually a six.

o Watch Video Solution



https://dl.doubtnut.com/l/_iXwtLOjWPYGd
https://dl.doubtnut.com/l/_TqCNYko9rgf2

22. A person plays a game of tossing a coin
thrice. For each head he is given Rs 2 by the
organiser of the game and for each tail he has
to give Rs 1.50 to the organiser. Let X denote
the amount gained or lost by the person. Show
that 'X' is a random variable and exhibit it as a
function on the sample space of the

experiment.

o Watch Video Solution



https://dl.doubtnut.com/l/_Wl65SmX1wD05

23. A bag contains 2 white and 1 red ball. One
ball is drawn at random and then put back in
the bag after noting its colour. The process is
repeated again. If 'X' denotes the number of red

balls recorded in the two draws, describe 'X'.

o Watch Video Solution

24. Two cards are drawn successively with
replacement from a well-shuffled deck of 52
cards. Find the probability distribution of the

number of aces.


https://dl.doubtnut.com/l/_44ZcyZZrVtoq
https://dl.doubtnut.com/l/_PrZFWkkB3sAc

o Watch Video Solution

25. Find the probability distribution of number

of doublets in three throws of a pair of dice.

o Watch Video Solution

26. Let X denote the number of hours you study
during a randomly selected school day. The
probability that X can take the values x, has the
following form, where k is some unknown

constant.:


https://dl.doubtnut.com/l/_PrZFWkkB3sAc
https://dl.doubtnut.com/l/_gPfMGlUOOQJm
https://dl.doubtnut.com/l/_H4vNTjl4cISh

r 0.1 if z =0

(X kx if x =1 or 2
( _w)_<k(5—x) if x3 or 4
L 0 otherwise

Find the value of k.

o Watch Video Solution

27. Let X denote the number of hours you study
during a randomly selected school day. The
probability that X can take the values x, has the
following form, where k is some unknown

constant.:


https://dl.doubtnut.com/l/_H4vNTjl4cISh
https://dl.doubtnut.com/l/_u6wbotggpKMk

r 0.1 if z =0

(X kx if r =1or 2
( _w)_<k(5—x) if z3 or 4
L 0 otherwise

What is the probability that you study at least
two hours ? Exactly two hours? At most two

hours?

° Watch Video Solution

28. Let a pair of dice be thrown and the random
variable X be the sum of the numbers that
appear on the two dice. Find the mean (or

expectation) of X.

| = 1


https://dl.doubtnut.com/l/_u6wbotggpKMk
https://dl.doubtnut.com/l/_hpxFVnNq1avw

l ®J Watch Video Solution I

29. Find the variance of the number obtained

on a throw of an unbiased die.

° Watch Video Solution

30. Two cards are drawn simultaneously (or
successively without replacement) from a well
shuffled pack of 52 cards. Find the mean,
variance and standard deviation of the number

of kings.



https://dl.doubtnut.com/l/_hpxFVnNq1avw
https://dl.doubtnut.com/l/_gSvR8ZrYgSb0
https://dl.doubtnut.com/l/_8s3QYyykhj5O

[ o Watch Video Solution

31. If a fair coin is tossed 10 times, find the

probability of: exactly six heads

° Watch Video Solution

32. If a fair coin is tossed 10 times, find the

probability of: at least six heads

° Watch Video Solution



https://dl.doubtnut.com/l/_8s3QYyykhj5O
https://dl.doubtnut.com/l/_0yVoR8RzYjKv
https://dl.doubtnut.com/l/_y6EFqwLfOGtw
https://dl.doubtnut.com/l/_Ix8le09dBiaT

33. If a fair coin is tossed 10 times, find the

probability of: at most six heads

o Watch Video Solution

34. Ten eggs are drawn successively with
replacement from a lot containing 10%
defective eggs. Find the probability that there is

at least one defective egg.

o Watch Video Solution



https://dl.doubtnut.com/l/_Ix8le09dBiaT
https://dl.doubtnut.com/l/_nG0u8wbmVVzm

35. Coloured balls are distributed in four boxes

as shown in the figure

Box Colour
Black White Red Blue
I 3 4 5 6
II 2 2 2 2
111 1 2 3 1
IAY 4 3 | 5

A box is selected at random and then a ball is
randomly drawn from the selected box. The
colour of the ball is black, what is the

probability that ball drawn is from the box IlI?

o Watch Video Solution



https://dl.doubtnut.com/l/_FypPin8dWxI1

36. Find the mean of the Binomial distribution
Bl 4 L
"\ 3

o Watch Video Solution

37.The probability of a shooter hitting a target

3

is T How many minimum number of times

must he/she fire so that the probability of

hitting the target at least once is more than

0.997

° Watch Video Solution



https://dl.doubtnut.com/l/_RGIhOdO3hZYa
https://dl.doubtnut.com/l/_I5orK4MCB5Os

38. A and B throw a die alternatively till one of
them gets a ‘6’ and wins the game. Find their
respective probabilities of winning, if A starts

first.

o Watch Video Solution

39. If a machine is correctly set up, it produces
90% acceptable items. If it is incorrectly set up,
it produces only 40% acceptable items. Past
experience shows that 80% of the set ups are

correctly done. If after a certain set up, the


https://dl.doubtnut.com/l/_JlTRuPj5T7E2
https://dl.doubtnut.com/l/_TMoXayhSWuAX

machine produces 2 acceptable items, find the

probability that the machine is correctly setup.

o Watch Video Solution

1. Given that E and F are events such that
P(E) =0.6,P(F) =0.3and P(ENF) = 0.2

find P(E | F) and P(F | E)

o Watch Video Solution



https://dl.doubtnut.com/l/_TMoXayhSWuAX
https://dl.doubtnut.com/l/_uwWLNCt73cps
https://dl.doubtnut.com/l/_ussYa051fUUJ

2. Compute P(A | B),f P(B)=0.5 and

P(ANB) =0.32

o Watch Video Solution

3. If P(A) =0.8, P(B) = 0.5 and
P(B| A) =0.4find: P(AN B)

o Watch Video Solution
4, If P(A) =0.8,P(B) =0.5 and

P(B| A) = 0.4find: P(A | B)


https://dl.doubtnut.com/l/_ussYa051fUUJ
https://dl.doubtnut.com/l/_eeqNrtgKgxoe
https://dl.doubtnut.com/l/_L21HYqVdTwj3

° Watch Video Solution

5. If P(A) =0.8,P(B) =0.5 and

P(B | A) = 0.4find: P(A U B)

0 Watch Video Solution

6. Evaluate P(A U B) if P(A) = P(B) = —

2
and P(A | B) = 5

o Watch Video Solution



https://dl.doubtnut.com/l/_L21HYqVdTwj3
https://dl.doubtnut.com/l/_hqCmLedY3rfA
https://dl.doubtnut.com/l/_INrrTdGreu75
https://dl.doubtnut.com/l/_5VczAaSAlQf2

6 5
P(AUB) = 1_71 find: P(A N B)

o Watch Video Solution

6 5
P(AUB) = 1_71 find: P(A | B)
o Watch Video Solution
o If P(A) = PB)= d
. = ﬁ, — ﬁ an
P(AUB) = - find: P(B | A)

11


https://dl.doubtnut.com/l/_5VczAaSAlQf2
https://dl.doubtnut.com/l/_GLOaYvYwtwk9
https://dl.doubtnut.com/l/_hi2McJRONdNg

o Watch Video Solution

10. Determine P(E | F) if A coin is tossed
three times, where : E : head on third toss , F:

heads on first two tosses

o Watch Video Solution

11. Determine P(E | F) if A coin is tossed three
times, where : E : at least two heads , F : at most

two heads

l a WAr_ v _L vl ~_ ..


https://dl.doubtnut.com/l/_hi2McJRONdNg
https://dl.doubtnut.com/l/_JwTQCdrzgmdq
https://dl.doubtnut.com/l/_0KKS9iBzqi0Z
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12. Determine P(E | F) : if A coin is tossed
three times, where : E : at most two tails , F : at

least one talil

° Watch Video Solution

13. Determine P(E | F) if two coins are tossed
once, where : E : tail appears on one coin, F :

one coin shows head

o Watch Video Solution



https://dl.doubtnut.com/l/_0KKS9iBzqi0Z
https://dl.doubtnut.com/l/_lbK5KYi4llAE
https://dl.doubtnut.com/l/_xXrnVa7creTk

14. Determine P(E | F) if two coins are tossed
once, where : E : no tail appears, F : no head

appears

° Watch Video Solution

15. Determine P(E | F) if A die is thrown three
times, where : E : 4 appears on the third toss, F:

6 and 5 appears respectively on first two tosses

o Watch Video Solution



https://dl.doubtnut.com/l/_xXrnVa7creTk
https://dl.doubtnut.com/l/_RR2RkzK3C5Ui
https://dl.doubtnut.com/l/_NX2qJBviqld3

16. Determine P(E | F') Mother, father and son
line up at random for a family picture :E : son

on one end, F : father in middle

° Watch Video Solution

17. A black and a red dice are rolled :Find the
conditional probability of obtaining a sum
greater than 9, given that the black die resulted

in ab.

o Watch Video Solution



https://dl.doubtnut.com/l/_f0mRwvAX86bF
https://dl.doubtnut.com/l/_nkhmN0X0RGiI

18. A black and a red dice are rolled: Find the
conditional probability of obtaining the sum 8,
given that the red die resulted in a number less

than 4.

° Watch Video Solution

19. A fair die is rolled. Consider events
E={1,3,5}, F ={2,3},and G = {2, 3,4, 5}

find: P(E | F)and P(F | E)

o Watch Video Solution



https://dl.doubtnut.com/l/_p4IwI0e7DwKZ
https://dl.doubtnut.com/l/_tcMWemNwVDyy

20. A fair die is rolled. Consider events
E={1,3,5}, F ={2,3},and G = {2, 3,4, 5}

find: P(E | G) and P(G | E)

O Watch Video Solution

21. A fair die is rolled. Consider events
E={1,3,5}, F ={2,3},and G = {2, 3,4, 5}

find: PIEUF | G)and P(ENF | G)

o Watch Video Solution



https://dl.doubtnut.com/l/_orTvONpeu9pv
https://dl.doubtnut.com/l/_Mrj5YicWsmWl
https://dl.doubtnut.com/l/_Keqahla80QIY

22. Assume that each born child is equally likely
to be a boy or a girl. If a family has two children,
what is the conditional probability that both

are girls given that the youngest is a girl.

o Watch Video Solution

23. Assume that each born child is equally likely
to be a boy or a girl. If a family has two children,
what is the conditional probability that both

are girls given that at least one is a girl?

° Watch Video Solution



https://dl.doubtnut.com/l/_Keqahla80QIY
https://dl.doubtnut.com/l/_z7MHUTNXVDse

24. An instructor has a question bank consisting
of 300 easy True / False questions, 200 difficult
True / False questions, 500 easy multiple choice
questions and 400 difficult multiple choice
questions. If a question is selected at random
from the question bank, what is the probability
that it will be an easy question given that it is a

multiple choice question?

° Watch Video Solution



https://dl.doubtnut.com/l/_z7MHUTNXVDse
https://dl.doubtnut.com/l/_IbBw5WmwVbDf

25. Given that the two numbers appearing on
throwing two dice are different. Find the
probability of the event ‘the sum of numbers on

the dice is 4’.

o Watch Video Solution

26. Consider the experiment of throwing a die, if
a multiple of 3 comes up, throw the die again
and if any other number comes, toss a coin.

Find the conditional probability of the event


https://dl.doubtnut.com/l/_R3xAU1FYlr6F
https://dl.doubtnut.com/l/_BaRaX2aZCj0N

‘the coin shows a tail’, given that ‘at least one

die shows a 3’.

° Watch Video Solution

1
27.1f P(A) = 3 P(B) = 0then P(A | B) is:

A.0
Bl
2

C. not defined

D.1


https://dl.doubtnut.com/l/_BaRaX2aZCj0N
https://dl.doubtnut.com/l/_T1z1ZLRBJ2vw

Answer:

° Watch Video Solution

28. If A and B are events such that
P(A | B) =P(B| A) # 0then:

A ACB

B.A=1DB

CAUB+# 6


https://dl.doubtnut.com/l/_T1z1ZLRBJ2vw
https://dl.doubtnut.com/l/_2ibxVQzPvtKI

Answer:

° Watch Video Solution

3 1
20.If P(A) = =, P(B) = ¢ find P(AN B) if

A and B are independent events.

o Watch Video Solution

30. Two cards are drawn at random and without

replacement from a pack of 52 playing cards.


https://dl.doubtnut.com/l/_2ibxVQzPvtKI
https://dl.doubtnut.com/l/_mslWvyF4m25e
https://dl.doubtnut.com/l/_CmSgqS05o9et

Find the probability that both the cards are

black.

o Watch Video Solution

31. A box of oranges is inspected by examining
three randomly selected oranges drawn
without replacement. If all the three oranges
are good, the box is approved for sale,
otherwise, it is rejected. Find the probability
that a box containing 15 oranges out of which
12 are good and 3 are bad ones will be

approved for sale.


https://dl.doubtnut.com/l/_CmSgqS05o9et
https://dl.doubtnut.com/l/_mBSJnFrBU6jr

o Watch Video Solution

32. A fair coin and an unbiased die are tossed.
Let A be the event ‘head appears on the coin’
and B be the event 3 on the die’. Check whether

A and B are independent events or not.

o Watch Video Solution

33.Adie marked 1,2,3 inred and 4, 5, 6 in green

is tossed. Let A be the event, ‘the number is


https://dl.doubtnut.com/l/_mBSJnFrBU6jr
https://dl.doubtnut.com/l/_KG7UyNNvkgiC
https://dl.doubtnut.com/l/_kHQJMkQkYEJN

even, and B be the event, ‘the number is red’.

Are A and B independent?

O Watch Video Solution

34, let E and F be events with
3 3 1

P(E) = £, P(F) = 45 and P(ENF) = —.

Are E and F independent?

o Watch Video Solution



https://dl.doubtnut.com/l/_kHQJMkQkYEJN
https://dl.doubtnut.com/l/_kkVco1vVcZT3

35. Given that the events A and B are such that
P(A) = 1/2, P(A cup B)=3/5 and P(B)d Find p if

they are mutually exclusive

° Watch Video Solution

36. Given that the events A and B are such that

P(A) = %,P(AUB) = % and P(B) =p

Find p if they are independent.

o Watch Video Solution



https://dl.doubtnut.com/l/_9cR7wlT90kmb
https://dl.doubtnut.com/l/_j7IJoWmTMC94
https://dl.doubtnut.com/l/_PxJIa2PReb2H

37. Let A and B be independent events with

P(A) = 0.3and P(B) = 0.4 Find: P(A N B)

o Watch Video Solution

38. Let A and B be independent events with

P(A) = 0.3and P(B) = 0.4 Find: P(A U B)

o Watch Video Solution

39. Let A and B be independent events with

P(A) = 0.3and P(B) = 0.4Find: P(A | B)



https://dl.doubtnut.com/l/_PxJIa2PReb2H
https://dl.doubtnut.com/l/_QpVOBQDUCnei
https://dl.doubtnut.com/l/_LhJHuQkaRAz4

° Watch Video Solution

40. Let A and B be independent events with

P(A) = 0.3and P(B) = 0.4Find: P(B | A)

o Watch Video Solution

41. If A and B are two events such that

1 1 1

find P(-A and —B)

o Watch Video Solution



https://dl.doubtnut.com/l/_LhJHuQkaRAz4
https://dl.doubtnut.com/l/_tfEZP5n2xkz2
https://dl.doubtnut.com/l/_F68LTsBTmbFk

42. If P(A) = 3 P(B) = and

12
1
P(—A or —uB):Z, then A and B are

independent events.

O Watch Video Solution

43. Given two independent events A and B such
that P(A) = 0.3, and P(B) = 0.6 Find: P(A

and B)

o Watch Video Solution



https://dl.doubtnut.com/l/_xIADNKwZozv0
https://dl.doubtnut.com/l/_fwakqpb0NP1W
https://dl.doubtnut.com/l/_7iLhgupvn3Ar

44, Given two independent events A and B such
that P(A) = 0.3, and P(B) = 0.6 Find: P(A

and not B)

o Watch Video Solution

45, Given two independent events A and B such
that P(A) = 0.3, and P(B) = 0.6 Find: P(A or

B)

o Watch Video Solution



https://dl.doubtnut.com/l/_7iLhgupvn3Ar
https://dl.doubtnut.com/l/_wNda6z22QQga

46. Given two independent events A and B such
that P(A) =0.3, and P(B) =0.6 Find:

P(neither Anor B)

O Watch Video Solution

47. A die is tossed thrice. Find the probability of

getting an odd number at least once.

o Watch Video Solution



https://dl.doubtnut.com/l/_Y0WbH4FRkike
https://dl.doubtnut.com/l/_M1PltpAHYzTi

48. Two balls are drawn at random with
replacement from a box containing 10 black and
8 red balls. Find the probability that both balls

are red.

° Watch Video Solution

49. Two balls are drawn at random with
replacement from a box containing 10 black and
8 red balls. Find the probability that first ball is

black and second is red.

l o Watch Video Solution


https://dl.doubtnut.com/l/_m3FvMOq698Ui
https://dl.doubtnut.com/l/_T9X8xiQBhaNj

50. Two balls are drawn at random with
replacement from a box containing 10 black and
8 red balls. Find the probability that one of

them is black and other is red.

O Watch Video Solution

51. Probability of solving specific problem

1 1

independently by A and B are 2 and 3

respectively. If both try to solve the problem


https://dl.doubtnut.com/l/_T9X8xiQBhaNj
https://dl.doubtnut.com/l/_T98C340Wzu8i
https://dl.doubtnut.com/l/_7mou83If8IzU

independently, find the probability that the

problem is solved.

° Watch Video Solution

52. Probability of solving specific problem

1 1
independently by A and B are 3 and 3

respectively. If both try to solve the problem

independently, find the probability that exactly

one of them solves the problem.

o Watch Video Solution



https://dl.doubtnut.com/l/_7mou83If8IzU
https://dl.doubtnut.com/l/_p0wMMYpSguZe
https://dl.doubtnut.com/l/_uzj6Y6wRRwpe

53. One card is drawn from a well-shuffled deck
of 52 cards. Find the probability of getting : a

spade

° Watch Video Solution

54. One card is drawn at random from a well
shuffled deck of 52 cards. In which of the
following cases are the events E and F
independent ?E : ‘the card drawn is black F :

‘the card drawn is a king’

o Watch Video Solution



https://dl.doubtnut.com/l/_uzj6Y6wRRwpe
https://dl.doubtnut.com/l/_DEL7nRJTW0EU

55. One card is drawn at random from a well
shuffled deck of 52 cards. In which of the
following cases are the events E and F
independent ?E : ‘the card drawn is a king or

queen’F : ‘the card drawn is a queen or jack’.

° Watch Video Solution

56. In a hostel, 60% of the students read Hindi
news paper, 40% read English news paper and

20% read both Hindi and English news papers.


https://dl.doubtnut.com/l/_DEL7nRJTW0EU
https://dl.doubtnut.com/l/_ERLwJjiR2Lqa
https://dl.doubtnut.com/l/_aIurwPR0FHja

A student is selected at random. Find the
probability that she reads neither Hindi nor

English news papers.

° Watch Video Solution

57.In a hostel, 60% of the students read Hindi
news paper, 40% read English news paper and
20% read both Hindi and English news papers.
A student is selected at random. If she reads
Hindi news paper, find the probability that she

reads English news paper.

l a WAr_ v _L vl . ~_ ..


https://dl.doubtnut.com/l/_aIurwPR0FHja
https://dl.doubtnut.com/l/_8mwknoTt3Mf1

{ ™ Vvvaillll vidcoO o01uLivrl ]

58. In a hostel, 60% of the students read Hindi
news paper, 40% read English news paper and
20% read both Hindi and English news papers.
A student is selected at random. If she reads
English news paper, find the probability that

she reads Hindi news paper.

o Watch Video Solution



https://dl.doubtnut.com/l/_8mwknoTt3Mf1
https://dl.doubtnut.com/l/_I8orz4FICqXK

59. The probability of obtaining an even prime
number on each die, when a pair of dice is

rolled is:

A.O

. 1
3

N
[t

1
2
1

36

D.

Answer:

O Watch Video Solution



https://dl.doubtnut.com/l/_uGmphXS7bh79

60. Two events A and B will be independent, if:

A. A and B are mutually exclusive

B.P(A’B’) = [1 — P(A)][1 — P(B)]

D.P(A) + P(B) =1

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_xq89RGG5BRm7

61. An urn contains 5 red and 5 black balls. A ball
is drawn at random, its colour is noted and is
returned to the urn. Moreover, 2 additional
balls of the colour drawn are put in the urn and
then a ball is drawn at random. What is the

probability that the second ball is red?

o Watch Video Solution

62. A bag contains 4 red and 4 black balls,
another bag contains 2 red and 6 black balls.

One of the two bags is selected at random and


https://dl.doubtnut.com/l/_phr4aaTNhpiF
https://dl.doubtnut.com/l/_9kfGBukH3RKf

a ball is drawn from the bag which is found to
be red. Find the probability that the ball is

drawn from the first bag.

O Watch Video Solution

63. Of the students in a college, it is known that
60% reside in hostel and 40% are day scholars
(not residing in hostel). Previous year results
report that 30% of all students who reside in
hostel attain A grade and 20% of day scholars
attain A grade in their annual examination. At

the end of the year, one student is chosen at


https://dl.doubtnut.com/l/_9kfGBukH3RKf
https://dl.doubtnut.com/l/_2Lvpvp6BWTkC

random from the college and he has an A grade,
what is the probability that the student is a

hostlier?

O Watch Video Solution

64.In answering a question in a multiple choice

test a student either knows the answer or
3 .

guesses. Let — be the probability that he knows

4

1
the answer and 1 be the probability that he
guesses. Assuming that a student who guesses

1
at the answer will be correct with probability 1

. What is the probability that a student knows


https://dl.doubtnut.com/l/_2Lvpvp6BWTkC
https://dl.doubtnut.com/l/_UoQgAkLxWFJA

the answer, given that he answered it correctly

?

o Watch Video Solution

65. A laboratory blood test is 99% effective in
detecting a certain disease when it is in fact,
present. However, the test also yields a false
positive result for 0.5% of the healthy person
tested (i.e. if a healthy person is tested, then,
with probability 0.005, the test will imply he has
the disease). If 0.1 percent of the population

actually has the disease, what is the probability


https://dl.doubtnut.com/l/_UoQgAkLxWFJA
https://dl.doubtnut.com/l/_gQOq4amjNn1s

that a person has the disease given that his

test result is positive ?

o Watch Video Solution

66. There see three coins,one is a two headed
coin (having head on both the faces),another is
a biased coin that comes up heads 75% of the
time and the third is anunbiased coin.One of
the three coins is choosen at random and
tossed.Of it shows head,what is probability that

it was the two headed coin?

l a WAL _L vl . ~_ ..


https://dl.doubtnut.com/l/_gQOq4amjNn1s
https://dl.doubtnut.com/l/_2yaWy4KAyhON

{ ™ Vvvdadillll vidcoO o01uLivrl ]

67. An insurance company insured 2000 scooter
drivers, 4000 car drivers and 6000 truck drivers.
The probability of an accidents are 0.01, 0.03
and 0.5 respectively. One of the insured
persons meets with an accident. What is the

probability that he is a scooter driver?

o Watch Video Solution



https://dl.doubtnut.com/l/_2yaWy4KAyhON
https://dl.doubtnut.com/l/_b3ZC1Mv2ovML

68. A factory has two machines A and B. Past
record shows that machine A produced 60% of
the items of output and machine B produced
40% of the items. Further, 2% of the items
produced by machine A and 1% produced by
machine B were defective. All the items are put
into one stockpile and then one item is chosen
at random from this and is found to be
defective. What is the probability that it was

produced by machine B?

° Watch Video Solution



https://dl.doubtnut.com/l/_5GM1R9mS1dCW
https://dl.doubtnut.com/l/_HopINGWV8993

69. Two groups are competing for the position
on the Board of directors of a corporation. The
probabilities that the first and the second
groups will win are 0.6 and 0.4 respectively.
Further, if the first group wins, the probability
of introducing a new product is 0.7 and the
corresponding probability is 0.3 if the second
group wins. Find the probability that the new

product introduced was by the second group.

o Watch Video Solution



https://dl.doubtnut.com/l/_HopINGWV8993

70. Suppose a girl throws a die. If she gets a 5
or 6, she tosses a coin three times and notes
the numbers of heads. If she gets 1,2,3, or 4, she
tosses a coin once and notes whether a head or
a tail is obtained. If she attained exactly one
head what is the probability that she threw

1,2,3, or 4 with the die?

° Watch Video Solution

71. A manufacturer has three machine operators

A, B and C. The first operator A produces 1%


https://dl.doubtnut.com/l/_NmrpfPNS5o6z
https://dl.doubtnut.com/l/_t5Eblayr3BPq

defective items, where as the other two
operators B and C pro duce 5% and 7%
defective items respectively. A is on the job for
50% of the time, B is on the job for 30% of the
time and C is on the job for 20% of the time. A
defective item is produced, what is the

probability that it was produced by A?

o Watch Video Solution

72. A card from a pack of 52 cards is lost. From
the remaining cards of the pack, two cards are

drawn and are found to be both diamonds. Find


https://dl.doubtnut.com/l/_t5Eblayr3BPq
https://dl.doubtnut.com/l/_lrqPkNSvn7HQ

the probability of the lost card being a

diamond.

o Watch Video Solution

4
73. Probability that A speaks truth is 5 A coin
is tossed. A reports that a head appears. The

probability that actually there was head is

o >

N
SN O G TN


https://dl.doubtnut.com/l/_lrqPkNSvn7HQ
https://dl.doubtnut.com/l/_TkVAE8i3oYrV

Answer:

° Watch Video Solution

74. If A and B are two events such that A ¢ B

and P(B) # 0, then which of the following is

correct?

g

_ P(B)
A P(A| B) = )

B.P(A | B) < P(A)


https://dl.doubtnut.com/l/_TkVAE8i3oYrV
https://dl.doubtnut.com/l/_gjSBUHoEGOuN

C.P(A | B) > P(A)

D. fegest f€ Set &t ol

Answer:

o Watch Video Solution

75. An urn contains 5 red and 2 black balls. Two
balls are randomly drawn. Let X represent the
number of black balls. What are the possible

values of X? Is X a random variable ?

o Watch Video Solution



https://dl.doubtnut.com/l/_gjSBUHoEGOuN
https://dl.doubtnut.com/l/_gL3yyhSHSXza

76. Let X represent the difference between the
number of heads and the number of tails
obtained when a coin is tossed 6 times. What

are possible values of X?

o Watch Video Solution

77. Find the probability distribution of number

of heads in two tosses of a coin

o Watch Video Solution



https://dl.doubtnut.com/l/_gL3yyhSHSXza
https://dl.doubtnut.com/l/_OYVWG74yfI8m
https://dl.doubtnut.com/l/_0hCkSONiWmBJ

78. Find the probability distribution of number
of tails in the simultaneous tosses of three

coins.

O Watch Video Solution

79. Find the probability distribution of number

of heads in four tosses of a coin.

o Watch Video Solution



https://dl.doubtnut.com/l/_BsO7pC6qLXEz
https://dl.doubtnut.com/l/_ArZB7Yo5HEQ0

80. Find the probability distribution of the
number of successes in two tosses of a die,
where a success is defined as : number greater

than 4

o Watch Video Solution

81. Find the probability distribution of the
number of successes in two tosses of a die,
where a success is defined as : six appears on at

least one die.

l o Watch Video Solution


https://dl.doubtnut.com/l/_UbSlLOLzCoRH
https://dl.doubtnut.com/l/_bRoZ5cHCXqs3

82. From a lot of 30 bulbs which include 6
defectives, a sample of 4 bulbs is drawn at
random with replacement. Find the probability

distribution of the number of defective bulbs.

O Watch Video Solution

83. A coin is biased so that the head is 3 times

as likely to occur as tail. If the coin is tossed


https://dl.doubtnut.com/l/_bRoZ5cHCXqs3
https://dl.doubtnut.com/l/_AedcU7mOXBwS
https://dl.doubtnut.com/l/_RBXby4bNd2dH

twice, find the probability distribution of

number of tails.

° Watch Video Solution

84. The random variable X has a probability
distribution P(X) of the following form, where k
is some number : P(x)={(k,,if,
z =0), (2k,,if,e = 1), (3k, , if,

z =2),(0,,,,) :} Determine the value of k.

o Watch Video Solution



https://dl.doubtnut.com/l/_RBXby4bNd2dH
https://dl.doubtnut.com/l/_hbp7c4Drqawt
https://dl.doubtnut.com/l/_gwyJUZCUGVy8

85. The random variable X has a probability
distribution P(X) of the following form, where k
is some number : P(z)={(k,,if,
z =0), (2k,,if,e = 1), (3k, , if,

z=2),(0,,,,):} find

P(X < 2), P(X < 2), P(X > 2).

o Watch Video Solution

86. Find the mean number of heads in three

tosses of a fair coin.

o Watch Video Solution



https://dl.doubtnut.com/l/_gwyJUZCUGVy8
https://dl.doubtnut.com/l/_ueoZX3g4LmfA

87. Two dice are thrown simultaneously. If X
denotes the number of sixes, find the

expectation of X.

° Watch Video Solution

88. Two numbers are selected at random
(without replacement) from the first six positive
integers. Let X denote the larger of the two

numbers obtained. Find E(X).

° Watch Video Solution



https://dl.doubtnut.com/l/_ueoZX3g4LmfA
https://dl.doubtnut.com/l/_BNb6dmxGRV69
https://dl.doubtnut.com/l/_WqyhsW0Ymukh

89. Let X denote the sum of the numbers

obtained when two fair dice are rolled. Find the

variance and standard deviation of X.

o Watch Video Solution

90. A class has 15 students whose ages are 14,
17,15, 14, 21,17, 19, 20, 16, 18, 20, 17, 16, 19 and 20
years. One student is selected in such a manner
that each has the same chance of being chosen

and the age X of the selected student is


https://dl.doubtnut.com/l/_WqyhsW0Ymukh
https://dl.doubtnut.com/l/_cHQ3ZU25aC8u
https://dl.doubtnut.com/l/_6uw8ksUid8Ua

recorded. What is the probability distribution of
the random variable X? Find mean, variance and

standard deviation of X.

O Watch Video Solution

91. In a meeting, 70% of the members favour
and 30% oppose a certain proposal. A member
is selected at random and we take X = 0 if he
opposed, and X =1 if he is in favour. Find

E(X) and Var(X).

o Watch Video Solution



https://dl.doubtnut.com/l/_6uw8ksUid8Ua
https://dl.doubtnut.com/l/_Y1XwTmo7ZHyj

92. The mean of the numbers obtained on
throwing a die having written 1 on three faces, 2

on two faces and 5 on one face is:

A1l

B.2

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_LxHjfzQmv4Kv

93. Suppose that two cards are drawn at
random from a deck of cards. Let X be the
number of aces obtained. Then the value of E(X)

iS:

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_pN5CrXkm2TBh

94. A die is thrown 6 times. If ‘getting an odd
number’ is a success, what is the probability of

5 successes?

o Watch Video Solution

95. A die is thrown 6 times. If ‘getting an odd
number’ is a success, what is the probability of

5 successes?

° Watch Video Solution



https://dl.doubtnut.com/l/_pN5CrXkm2TBh
https://dl.doubtnut.com/l/_UmjP3FMAoOIJ
https://dl.doubtnut.com/l/_udRh9WCk478T

96. A die is thrown 6 times. If ‘getting an odd
number’ is a success, what is the probability of

5 successes?

° Watch Video Solution

97. A pair of dice is thrown 5 times. If getting a
doublet is considered a success then find the

probability of exactly 2 successes.

o Watch Video Solution



https://dl.doubtnut.com/l/_dxBzGkzsl3H2
https://dl.doubtnut.com/l/_Pt1ZzZiv8Mrp
https://dl.doubtnut.com/l/_my59u3cYiAM8

98. There are 5% defective items in a large bulk
of items. What is the probability that a sample
of 10 items will include not more than one

defective item?

° Watch Video Solution

99. Five cards are drawn successively with
replacement from a well-shuffled deck of 52
cards. What is the probability that all the five

cards are spades?

o Watch Video Solution



https://dl.doubtnut.com/l/_my59u3cYiAM8
https://dl.doubtnut.com/l/_Pbrx6ZGdUoPH

100. Five cards are drawn successively with
replacement from a well-shuffled deck of 52
cards. What is the probability that only 3 cards

are spades?

o Watch Video Solution

101. Five cards are drawn successively with
replacement from a well-shuffled deck of 52
cards. What is the probability that none is a

spade?



https://dl.doubtnut.com/l/_Pbrx6ZGdUoPH
https://dl.doubtnut.com/l/_hlzLWsaAHJ7z
https://dl.doubtnut.com/l/_e3mF5yTmYt5R

I o Watch Video Solution

102. The probability that a bulb produced by a
factory will fuse after 150 days of use is 0.05.
Find the probability that out of 5 such bulbs

none will fuse after 150 days of use.

o Watch Video Solution

103. The probability that a bulb produced by a
factory will fuse after 150 days of use is 0.05.

Find the probability that out of 5 such bulbs


https://dl.doubtnut.com/l/_e3mF5yTmYt5R
https://dl.doubtnut.com/l/_CkdVfrG81OFq
https://dl.doubtnut.com/l/_e1u7lXBuGPyg

not more than one will fuse after 150 days of

use.

° Watch Video Solution

104. The probability that a bulb produced by a
factory will fuse after 150 days of use is 0.05.
Find the probability that out of 5 such bulbs

more than one will fuse after 150 days of use.

o Watch Video Solution



https://dl.doubtnut.com/l/_e1u7lXBuGPyg
https://dl.doubtnut.com/l/_YU6MGl06fzHm

105. The probability that a bulb produced by a
factory will fuse after 150 days of use is 0-05.
Find the probability that out of 5 such bulbs: (i)
none (ii) not more than one (iii) more than one

(iv) at least one will fuse after 150 days of use.

o Watch Video Solution

106. A bag consists of 10 balls each marked with
one of the digits 0 to 9. If four balls are drawn

successively with replacement from the bag,


https://dl.doubtnut.com/l/_LGaTlAZ5xW1a
https://dl.doubtnut.com/l/_6hqIv6Y5JIMg

what is the probability that none is marked with

the digit 0?7

o Watch Video Solution

107. In an examination, 20 questions of true-
false type are asked. Suppose a student tosses a
fair coin to determine his answer to each
question. If the coin falls heads, he answers
'true', if it falls tails, he answers 'false'. Find the
probability that he answers at least 12

questions correctly.

l a Watch Video Solution


https://dl.doubtnut.com/l/_6hqIv6Y5JIMg
https://dl.doubtnut.com/l/_MEwvzBxcwOwT

108. On a multiple choice examination with
three possible answers for each of the five
questions, what is the probability that a
candidate would get four or more correct

answers just by guessing ?

° Watch Video Solution

109. A person buys a lottery ticket in 50

lotteries, in each of which his chance of winning


https://dl.doubtnut.com/l/_MEwvzBxcwOwT
https://dl.doubtnut.com/l/_wQ1ebZJgyyvS
https://dl.doubtnut.com/l/_oEmuMrUnLrkD

1
a prize is 100 . What is the probability that he

will win a prize at least once.

° Watch Video Solution

10. A person buys a lottery ticket in 50

lotteries, in each of which his chance of winning
1

a prize is oo . What is the probability that he

will win a prize exactly once.

° Watch Video Solution



https://dl.doubtnut.com/l/_oEmuMrUnLrkD
https://dl.doubtnut.com/l/_rSGyT2FHWa8F

111. A person buys a lottery ticket in 50 lotteries,

in each of which his chance of winning a prize is
1

100 . What is the probability that he will win a

prize at least twice?

° Watch Video Solution

112. Find the probability of getting 5 exactly

twice in 7 throws of a die.

o Watch Video Solution



https://dl.doubtnut.com/l/_Dx6zXx1fBgAj
https://dl.doubtnut.com/l/_as6BOB6Cm9eB
https://dl.doubtnut.com/l/_0ZuSoYNZY8ly

113. Find the probability of throwing at most 2

sixes in 6 throws of a single die.

o Watch Video Solution

14. It is known that 10% of certain articles
manufactured are defective. What is the
probability that in a random sample of 12 such

articles, 9 are defective?

o Watch Video Solution



https://dl.doubtnut.com/l/_0ZuSoYNZY8ly
https://dl.doubtnut.com/l/_BzcPwAkqnpm5

115. In a box containing 100 bulbs, 10 are
defective. The probability that out of a sample

of 5 bulbs none is defective is :

A 101

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_uAAAWLhKrtm1

116. The probability that a student is not a

swimmer is 5 Then the probability that out of

five students, four are swimmers is:

o (4) (2
(@)
o (3)(2

D. fegest f€ aet &t ot

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_GHnaubILFPRB

117. A and B are two events such that P(A) # 0.

Find P(B | A),if: Ais a subset of B

O Watch Video Solution

118. A and B are two events such that P(A) # 0

Find P(B | A)if: ANB = ¢

° Watch Video Solution



https://dl.doubtnut.com/l/_gsQeWGQnHMFm
https://dl.doubtnut.com/l/_l6AOhOMyQ0VM

19. A family has two children. What is the
probability that both the children are boys

given that at least one of them is a boy ?

O Watch Video Solution

120. In a family, with two children, the

probability of both children are girls is:

o Watch Video Solution



https://dl.doubtnut.com/l/_GxUmsVzTqSCO
https://dl.doubtnut.com/l/_BDU0Bd00UOb3

121. Suppose that 5% of men and 0.25% of
women have grey hair. A grey haired person is
selected at random. What is the probability of
this person being male? Assume that there are

equal number of males and females.

o Watch Video Solution

122. Suppose that 90% of people are right-
handed. What is the probability that at most 6
of a random sample of 10 people are right-

handed?


https://dl.doubtnut.com/l/_092sCDt9aU1e
https://dl.doubtnut.com/l/_lho0y6o4PTZi

o Watch Video Solution

123. An urn contains 25 balls of which 10 balls
bear a mark 'X' and the remaining 15 bear a
mark 'Y'. A ball is drawn at random from the urn,
its mark is noted down and it is replaced. If 6
balls are drawn in this way, find the probability

that all will bear 'X' mark.

o Watch Video Solution



https://dl.doubtnut.com/l/_lho0y6o4PTZi
https://dl.doubtnut.com/l/_XpGx5VGXCLDm

124. An urn contains 25 balls of which 10 balls
bear a mark 'X' and the remaining 15 bear a
mark 'Y'. A ball is drawn at random from the urn,
its mark is noted down and it is replaced. If 6
balls are drawn in this way, find the probability

that not more than 2 will bear 'Y' mark.

° Watch Video Solution

125. An urn contains 25 balls of which 10 balls
bear a mark 'X' and the remaining 15 bear a

mark 'Y'. A ball is drawn at random from the urn,


https://dl.doubtnut.com/l/_YLomy7UZWEsj
https://dl.doubtnut.com/l/_CVTQKQPcYRqC

its mark is noted down and it is replaced. If 6
balls are drawn in this way, find the probability

that at least one ball will bear 'Y' mark.

o Watch Video Solution

126. An urn contains 25 balls of which 10 balls
bear a mark 'X' and the remaining 15 bear a
mark 'Y'. A ball is drawn at random from the urn,
its mark is noted down and it is replaced. If 6
balls are drawn in this way, find the probability
that the number of balls with X' mark and 'Y’

mark will be equal.


https://dl.doubtnut.com/l/_CVTQKQPcYRqC
https://dl.doubtnut.com/l/_pj5E0yZt4YOh

o Watch Video Solution

127. In a hurdle race, a player has to cross 10

hurdles. The probability that he will clear each
5}

hurdle is 5 What is the probability that he will

knock down fewer than 2 hurdles?

o Watch Video Solution

128. A die is thrown again and again until three

sixes are obtained. Find the probability of


https://dl.doubtnut.com/l/_pj5E0yZt4YOh
https://dl.doubtnut.com/l/_GhdpiBn4CF2N
https://dl.doubtnut.com/l/_iNN7PRIsctzZ

obtaining the third six in the sixth throw of the

die.

° Watch Video Solution

129. If a leap year is selected at random, what is

the chance that it will contain 53 tuesdays?

o Watch Video Solution

130. If there are two children in a family,find the

probability that there is atleast one girl in a


https://dl.doubtnut.com/l/_iNN7PRIsctzZ
https://dl.doubtnut.com/l/_0zNRnNcmA8Xe
https://dl.doubtnut.com/l/_pNb1dObuKx6u

family.

o Watch Video Solution

131. If a fair coin is tossed 10 times, find the

probability of: at most six heads

o Watch Video Solution

132.In a game, a man wins a rupee for a six and
loses a rupee for any other number when a fair

die is thrown. The man decided to throw a die


https://dl.doubtnut.com/l/_pNb1dObuKx6u
https://dl.doubtnut.com/l/_eLUAxqiIRU3i
https://dl.doubtnut.com/l/_q9siVyl9F52C

thrice but to quit as and when he gets a six.
Find the expected value of the amount he wins

/ loses.

O Watch Video Solution

133. Assume that the chances of a patient
having a heart attack is 40%. It is also assumed
that a meditation and yoga course reduce the
risk of heart attack by 30% and prescription of
certain drug reduces its chances by 25%. At a
time a patient can choose any one of the two

options with equal probabilities. It is given that


https://dl.doubtnut.com/l/_q9siVyl9F52C
https://dl.doubtnut.com/l/_YBzqQjVXPcRp

after going through one of the two options the
patient selected at random suffers a heart
attack. Find the probability that the patient

followed a course of meditation and yoga?

° Watch Video Solution

134. If each element of a second order
determinant is either zero or one, what is the
probability that the value of the determinant is
positive? (Assume that the individual entries of
the determinant are chosen independently,

1
each value being assumed with probability 5)


https://dl.doubtnut.com/l/_YBzqQjVXPcRp
https://dl.doubtnut.com/l/_LGSuflExdiFS

o Watch Video Solution

135. An electronic assembly consists of two
subsystems, say, A and B. From previous testing
procedures, the following probabilities are
assumed to be known : P(A fails) = 0.2, P(B
fails alone ) = 0.15, P(A and B fail ) = 0.15
Evaluate the following probabilities: P(A fails | B

has failed )

o Watch Video Solution



https://dl.doubtnut.com/l/_LGSuflExdiFS
https://dl.doubtnut.com/l/_j8ujWN20MR3a

136. An electronic assembly consists of two
subsystems, say, A and B. From previ ous
testing procedures, the following probabilities
are assumed to be known : P(A fails )
= 0.2, P(B fails alone ) = 0.15, P(A and B
faill ) =0.15 Evaluate the following

probabilities: P(A fails alone)

o Watch Video Solution

137. Bag | contains 3 red and 4 black balls and

Bag Il contains 4 red and 5 black balls. One ball


https://dl.doubtnut.com/l/_WDqsXA6k9rOq
https://dl.doubtnut.com/l/_H4b4wLA8KsSh

is transferred from Bag | to Bag Il and then a
ball is drawn from Bag Il. The ball so drawn is
found to be red in colour. Find the probability

that the transferred ball is black

o Watch Video Solution

138. If A and B are two events such that

P(A) # 0and P(%) = 1,then

AAA CB

BBCA


https://dl.doubtnut.com/l/_H4b4wLA8KsSh
https://dl.doubtnut.com/l/_2jgFnRB7G9dz

C.B=¢
D.A = ¢
Answer:

o Watch Video Solution

A :
139. If P(E) > P(A), then which of the

following is correct : :

A.P(B | A) < P(B)

B.P(ANB) < P(A) - P(B)


https://dl.doubtnut.com/l/_2jgFnRB7G9dz
https://dl.doubtnut.com/l/_SGqM6LwXGYVk

C.P(B| A) > P(B)

D.P(B | A) = P(B)

Answer:

o Watch Video Solution

140. If A and B are any two events such that :

P(A) + P(B)- P(A and B) = P(A), then

APB|A) =1

B.P(A| B) = 1


https://dl.doubtnut.com/l/_SGqM6LwXGYVk
https://dl.doubtnut.com/l/_RQLXIzC3j8lP

C.P(B|A) =0

D.P(A | B) =0

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_RQLXIzC3j8lP

